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1. This Test Booklet contains 80 gquestions. All|l,
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cover sheet). Count the number of pages and
guestions before attempting the questions.

- Blank space in the Question Booklet may be used
for rough work.

. LEach question is [ollowed by four alternatives.
Select only one, which vou constder as the most
appropriate. Shade the relevant circle against the
corresponding question number on the OMR
Answer Sheet. Selecting more than one answer
for a question, cven if one of the selected answers
is correct, would result in its being treated as an
incorrect answer.

. (a) Correct answers will carry 2 marks each.
(b) Wrong answers will carry negative marking
of {minus) 0.5 mark each.
{c) Questions not attempted will carry no mark.

. This Booklet has three sections !
Part A — Language Proficiency
Part B — Teaching Aptilude/Attitude
Part C - Reasoning Ability

. {a) Out of 100%, 60% will be calculated from
scores in 20 questions of Language
Proficiency, 30 gquestions of Teaching
Aptitude, 30 questions of Reasoning Ability.

{b) Rest 40% will be calculated as per guidelines
in the information brochure of CEE-2014.

. Answers should ONLY be matked on the OMER
Answer-Sheet, No answer should be written on
the Test Boolklet.
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PART -A

Language Proficiency
{Expected Answering Time : 20 Minutes)

(Questions 1 to 4)

Read the following passage carefully and choose the most suitable word from the

given options to fill in the blanks.

Lifeisacomplexweb_ (1) interrelated causes and cannot be explained through
a simplistic formula of one cause (2) to one specific result. As players in
this drama, we can only lead our lives with the right principles and not knowingly

(3} to something harmful. Understanding this will make us less prone

to dejection when something unexpected (4) in the patterns of our lives.

1. (1) of
(2} to
(3) but
{4) that

2. (1) leads
(2) led
(3) leading
(4) has led

3. (1) contribute
{(2) contributing
(3) contributes
{4} contributed

-2
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4,

(1} happens

(2) happenings
(3) happened
(4) has happened

(Questions 5 and 6)
Select the most appropriate option to fill in the blanks from the given alternatives.

5.

The telephone  several times before I answered it.
(1) was ringing

(2) has rung

(3) had rung

(4) would ring

It's surprising that father only scolded Rina, she

punished more severely for doing what she did.
{1) might

(2) should

(3} would

(4) could

(Questions 7 and 8)

The following five sentences come from a paragraph. The first and the [ast sentences
are given. Choose the right order in which the three sentences (PQR) should appear

to complete the paragraph,

7.

S1 Helen was now quite sure that she was going to miss her train, although she
was not very far from the station,

52
53
S4




S5 Helen reached the station just in time and managed to catch her train after all.

P

S1

The bus stop was not far off, so Helen ran towards the bus, which had stopped

to let some passengers/get off.

She was wondering what to do when a bus came into sight, going in the

direction of the station!

The bus conductor saw her running and did not ring the bell for the bus to

start until she had got on.
(1) PQR (2) QPR
(3) RPQ (4} QRP

While I was walking along the road the other day I happened to notice a

small brown leather purse lying on the pavement.

Betore I left, the policetnan made a note of my name and address in case the

owner of the purse wanted to write and thank me.

There was nothing inside it except some small change and a rather old
photograph - a picture of a woman and a young girl about twelve years old,

who looked like the woman's daughter.

I put the photograph back and took ‘the purse to the police station, where [

handed it to the policeman in charge.

I picked it up and opened it to see if I could find out the owner's name.
(1) PQR (2) QPR
(3) QRP (4) RPQ




(Questions 9 to 11)
Read the passage given below and answer the gquestions that follow.

The Chinese have the most complete records of the cycles of the comets. Manuscripts
from 467 B.C. first mention the appearance of Halley's Comet, and later records note
each subsequent return. We can be sure that in 1066, the Chinese astronomers were
recording the details of the comet's appearance.

In England in 1066, the Normans and the Anglo-Saxons were prepaning to fight a

decisive battle for control of the country, the Battle of Hastings. The two groups were
struggling to determine which language, culture, and leadership would rule England.
It was a bleak year for the Anglo-Saxons, as they were losing both the military and the
political struggles. Halley's Comet appeared during the time when they were losing
control of the country. Perhaps it seemed like a very unlucky sign to them. The
appearance of the comet is recorded in written history and also in picture form in the
great Bayeux tapestry of the 11th century, a woven story of the Norman conguest.

In Chaco Canyon, the people were going about life as usual when the comet passed
by, Women were making pottery, tending children, grinding corn, and gathering berries,
Men were hunting, building walls, and planning the religious festivals of the pueblo,
The appearance of the comet most certainly amazed them as it lit up both the day and
night sky.

9. The main idea of the passage is
(1) the war between the Normans and the Anglo-Saxons.
{2) the deep interest of the Chinese in Astronomy.
(3) the appearance of Halley's Comet.
(4) the events that occurred in 1066.

. The significance of the war between the Norman-Anglo-Saxons was
(1) the victory of the Normans.
{2} the Battle of Hastings was fought.
(3) it involved control of England.
(4) 1t was a bleak year for the Anglo-Saxons.
LL-1/C 5




. Pick out the idea which is NOT expressed in the passage.

(1) The appearance of Halley's Comet was first mentioned in 467 B.C.
(2) Halley's appearance is recorded on a piece of cloth.
(3) Halley's appearance is also recorded on pottery.

(4) Halley's appearance lit up the sky both in the day and night.

(Questions 12 to 14)
The following sentences have an error in one part of the sentence. Find the part
(1,2, 3, 4) which has the error,

12.

13.

14.

(1) Each one in the group were given (2) the certificate of ment as (3) they
performed (4) very well in the competition,

{1) Being a short vacation (2) Vanita had to return (3) without visiting (4) many
of the places.

(1) Never [ have listened (2) to such beautiful music (3} as the piece we heard on
the radio (4) last night.

. Choose the word that cannot be the opposite of any word given below,

(1) Mislead

{2} Misunderstand
{3) Mischief

(4) Misfortune

{Questions 16 and 17)

Choose the word/phrase which is closest in meaning to the underlined word in

the sentence.

16.

Whatever is universal cannot be exhausted to one particular form.
(1} reduced

(2} made tired

(3) fulfilled

(4) abrogated
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17. Ravi is up to his ears in work and cannot possibly see you now.
(1) fully occupied with
(2) very interested in
(3) not involved with -
(4) concerned with

18. Which of the alternatives best expresses the meaning of the idiom given below?

Make no bones about something
(1) care very little about an issue

() to state a fact so there are no doubts or objections
(3) to have all bones hroken in an accident

(4) to have nothing to give

Choose the correct antonym of the given word.

19. Relinquish
(1) Abdicate
(2) Pry
(3) Possess
(4y Deny
20. Select the correctly spelt word.
(1) Satelite
(2) Sattellite
(3) Satellite
(4) Sattelite
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PART - B
Teaching Aptitude

(Expected Answering Time : 40 Minutes)

21.

22,

23.

qrT-o
reror arfiverman
(endferm av wwa : g0 o)

A teacher to be effective in class 21, T fireres = FETH gt T & %Q

should

(1) introduce the lesson befére he/she
starts teaching,

(2) have command over his/her
language.

(3) have command over his/her
subject,

(4) all of the above.

The most important objective of co- 22. f

curricular activities in school js

(1) all round development of
children.

(2) development of interest in
curriculum,

(3) making the school atmosphere
attractive.

(4) strengthening the relations
between the community and
school.

To help students understand the lesson 23,

a teacher should teach by

(1} giving them prompt.

(2) focussing on €asy content,
(3) illustrating with examples.
(4) testing the content.
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24, An effective teacher is expected to

(1) encourage the students to make
initiative.

(2} reduce the anxicty level of
students to moderate level.

(3) to make students feel that
education 1s their need.

(4) all of the above.

. As a teacher which of the following 25.

you agree to

(1} spare the rod and spoil the child.

(2) punishment is an important tool
in disciplining the child.

(3) reward is more effective than
punishment.

(4) keeping personal touch with
students is helpful in disciplining
the child.

. Navodaya Vidyalayas provide

(1) quality education in urban areas.

(2) quality education in rural areas.

(3} quality education to the children
of Government employees.

(4) quality education to children in
India.

. (Games in school

(1) makes student physically fit.

(2) it is a healthy past-time,

(3) develops a sense of cooperation
and physical and mental balance.

(4) keep students mentally healthy.
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28. Teaching is an ideal profession 28. ﬁTW%.mW%ﬁﬁ?

because

(1) there is not much work load. (1) AT wrfam =gl 2 )

(2) there is ample opportunity of (2) HraA TR e et & Toin ey
learning and growing. 2l

(3) there are more holidays in  (3) 3 =ywwm™l & qor & siftre
comparison to other professions. TS B E |

(4} itis a noble profession, (4) I8 Ch I HaEHE B |

29. What will you do as a teacher if the 29, 32 faremeff amrhi Fen & suffem v et

students do not attend your class ? B 1 U e o = A g Ty ) ?

(1) Blame the students for their (1) ==t <hi Wﬁ%%ﬁﬁmﬁﬁ
absence T

(2) Keep quiet considering the  (2) el fradmmamdem wiaw
present attitude of students EnG) RIS RG]

(3) Think of using some interesting (3) Toreror ot 5w Treens Farferat @ weim
methods of teaching w0 % fore o e

(4) Try to know the reasons for their ~ (4) It rqufefa & =mor =t I
absence 1 HITS T

30. If a student becomes unconscious in 30. af¢ v frnffwan A daw B ST 2

the class what will you do first ? ST HeTE Uge! 9491 e 7

(1) Rush to the Principal's office for (1) @e@ar & v yammEm % =ifsg
help o Sedt ® M

(2) Telephone student's parents and (2) ferensff <& war-foe =61 ®F w0
wait for them 3T 3Rt Wefteat s

(3) Give first aid and contact any (3) Tareneft =51 wufes sy=m w0 ok
nearby doctor STt % et STaeT & are ST

(4) Make arrangements for sending to (4) STEITTE 99 o T ogaet e
the hospital
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leamning

(1) interesting.
(2) passive.
(3) quicker.
(4) complex.

. Effective communication takes place 32.

when teacher

(1) is authoritarian.

(2) involves students in teaching-
learning process.

(3) uses modern communication
technologies.

(4} ensures students are passive.

. Students should prefer those teachers
who
(1) dictate notes in the class.
(2) give important questions before
gxamination.
can clarify their difficulties
related to subject-matter.
are themselves disciplined.

31. Teacher uses visual aids to make 31. Torereh gva e wmmft st 3w e

i FH &% fou = &
(1) = |
(2) FfeRa
(3) IEF |
(4) S |

T TS IE EHY BT @ e R

(1) s1firepmardt 2 |

(2) Tareror—ayienr wisman o famnfsfat <t
I T & |

(3) 3yfer WSy TRkt =1 T
FAT 2 |

(4) ghfraa s 2 & fenff R
2

. Toenfdat =t 39 et =t atwe &
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sl w1 Auem ww #1
(4) w9 SATIRaE € |




34, A child may have hearing impairment 34, U% o= & sa—&7fd U6 &1 &l GHrE

if he/she & o] 8 Afe 98
(1) speaks unusually loud. (1) HEYRT & T S~ FicAd! /e g |
(2) comes closer to the speaker during (2) =TI o S ST o Ferareh 3T/
conversation. AT R |
(3} generally says, "please repeat” to (3) | R s g BT
the teacher. 2, i?f-q'ﬂ'[ gy |
(4) all of the above. (4) 3T At |
35, A teacher uses audio-visual materials 35. W farer feraror— safermy ufire & dhm
during teaching-learning process to o] ~ g9 | &1 92T =Ll 2
(I} enhance concentration and (1) FErenfihat <67 wpmar va e 6
learning in students, 91 g8 oh fe10 |
(2} reduce the burden of the teacher. (2) =19 favetor =) = w0 T
(3) increase use of technology. (3) AT o T R "g % ferw
(4) all of the above. (4) 39U A |
36. If a teacher is not able to answer the 36, Tt U e v fErenelf = gva &1 3@
question of a student he/she should o o wmed 72 ', 38 =fen
(1) say that he/she will answer after (1) =& foF o2 wmsf & =1 39T 2 |
consultation.
(2) rebuke the pupil. (2) B F |
(3) say that the question 1s wrong, (3) e ok 73 & Teid 2
(4) feel shy of his/her ignorance. (4) 31t ayfirgmn & foru wepr RES3R)
|
37. A democratic society is one which 37, U& S-aiea #9 & faray g
(1) follows the principles of equality, (1) HHME, T, Yl Ud AN Eq
freedom, fraternity and justice. g |
(2) respects the enlightened (2} B@Eﬁ'ﬂ‘f 1 HTET |
individuals.
(3) believes in equal educational (3) TEeh Tore gue Ferfies s o
opportunity to all. v |
(4) all of the above. (4) IU0RE | |
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the last one week. You will
{1) call his parents and complain.

(2) won'tallow a student coming late
in the class.

(3} punish him/her.

(4) talk and try to understand the
reason for coming late.

39. Which of the following practices will 39,

best prevent the spread of illnesses

such as the common cold ?

(1) Telling students not to share food
- with their classmates

(2) Giving students handkerchiefs to
keep them clean

(3) Providing students a specific area
in the classroom for storing their
personal things

{4) Having students wash their hands
properly on a regular basis
throughout the day

38. A student is coming late everyday for 38, v& fremeff fise v gur ¥ wfafem

e g s | v i | st

(1) 3us mmaT-fan 5t qam it
T e

(2) Fera @ 7 T faeneff =7 w5
# o1 <t ergufa 7 2 |

(3) 38 ZUE

(4) IT8 g B 37K e @ s
SROT - =hY IR e |

freferiiaa wanedi 7 & = ot adf-gem

et sftardt ot St @ T o el orfie

39 &It Y

(1) Taenfiat =t v wemfaat & ary
e § Toederd 9 % fag w
Sl

(2) Terenfifat =1 wresar FEw WA &
fore wamer W

(3) Terentdai =t 3k = ftRe A =
e o T v e wm suesy
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learned 7
(1) Attitudes
(2) Reflexes
(3) Interest
(4) Habits

. When there is a fight among students, 41.

a good teacher

(1) snubs the students rudely.

(2) encourage their fights.

(3} listen to their problems carefully
and involve them jointly.

(4) listen to the favourite students’
point only.

. Kavaratti is the capital of |
(1) Arunachal Pradesh

(2) Andaman & Nicobar Islands
(3) Lakshdweep

{4) None of the above

studying in

(1) elementary schools

{2) primary schools

(3) upper primary schools

{4) belonging to disadvantaged
sections of the society

40. Which of the following is NOT 40. Fr=fafga § & =4 ar dian 72 smn

37

(1) i
(2) TEAfRaTy
(3) Al
(4) 3mmed

¥e frenfdai & fa asE e R a9 @

ar=ar Ew

(1) Termiein =t waiaT € efear 2 |

(2) wgR % forg vienfea Far 2|

(3) 3fenl EHEAT ] WIEUTFGEF G
2 3t 378 Hge &9 | M Fan
21

(4) haw o1 T faenfefat <6 am =t
gAar e |

. Al =1 TEHEl R

(1) STEoTae Yol

(2) @¥euT vE e foag
(3) g

(4) 390 T © 1S oft 7

43. Mid-day meal is provided to children 43. ATHE M Ig T8 S=1

IuASY AT AT £ |

(1) sl feemer §

(2) wufis ey §

(3) = Wt faeneg o

(4) aurs & Sfa TgEl O weite




44. Which of the followings is a part of 44. Preffa YA A TE IR 7 IRE
programme "Padhe Bharat Badhe HRiEH 1 TF T8 ?

Bharat" "

(1) Early science (1) wrfos fagm
(2) Early mathematics (2) e e
(3) Early attendance (3) Wi Sufedrfd
(4) Early nutrition (4) SRfE G

45. The programme "Udaan” of the 45, G GERI &I “Eﬂ”%ﬁﬁ?ﬂﬁf%
Government of India focuses on

(1) girl students only. (1) e gt (FEne) =
(2) boys only. (2) et FEH W
(3) both boys and girls. (3) et ofit Trgw <F T
(4) scheduled tribe children. (4) VAT = W
46. As per 2011 Census, which state of 46. 2011 =6} ST 36 STER W o R
India has the highest literacy rate 7 [ # Tean e R R
(1) Assam (1) =A&8H
(2) Kerala (2) oA
(3) Mizoram (3) fortn
(4) Delhi (4) femedt
47. Children who misbehave in the school 47. frarer § getaER FE AW F= H
need to be HTAvaAl B! B
(1) punished. (1) 2figa HA A
(2) counselled. (2} T 3 oh |
(3) dealt individually with patience. (3) Seiud= =afeera 9 3 faam 4
3l

(4) made to stand up outside the class. (4) RETT o Il el A i |
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48.

49,

. A teacher o

Students like teachers who are

(1) well dressed and smart.

(2) regular and time concious.

(3) have good knowledge.

(4) in regular contact with students
and understand their personal
problems.

A teacher while teaching:a visually
impaired child along with other
students need to behave in 5 manner
to

(1) take care of him/her with

sympathy.

(2} don't give any extra .attention
because majority of students may
suffer.

(3) arrange the seat in the front row
and try to keep your teaching pace
according to him/her! without
making the other students suffer

(4} none of the above.

€nsure maximum
participation of students should make
use of

(1) lecture method,

(2) discussion method.

(3} textbook method.

(4) audio-visual aids.

LL-1/C
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PART - C
Reasoning Ability

(Expected Answering Time : 60 Minutes)

of population are represented by three
figures, The triangle represents the
school teachers, the square represents
the married teachers and the circle
represents the persons living in joint
families.

So, school teachers who are neither
married nor do live in joint families
are represented by

(1) F

2) C

3) B

(4) A

qTT - |
ek =L TeTuT
(aTufera wR awy : 60 Time)

51. Inthe following diagram, three classes 51. Frrfetfiaa smiw & o smefeat dm ani

& seee 1 gRifife w1 B
fregent =1 sl wean 2, = faanfia
e wvffifue war g s ga g
TiEr! # @ I = o ghife
FATE |

o 3 e S q faafea g e a @
T yiEr | Tad €, e wiaffie
FAT &
(1) F
2y C
(3) B
(4) A




History

Mathematics
(Geography

Sclence

By referring to the above Venn
diagram, which subject was taken by
maximum number of students ?

(1) Mathematics

(2) Science

(3) Geography

(4) History

IR 3 A F AFER HT 91 ey
e ware ferenf¥iat 3 g R e ?

(1) fi
(2) fasm
(3) e
(4) sfasm




53. Given below are two statements 53, 1= f€ MU g1 Feri = =g &t Fsrs fiw

54.

followed by two conclusions, which
are numbered {I) and (II). You have
to consider the given statements as
TRUE despite not conforming to
commonly known facts. Examine and
then decide which of the given follow
logically from the statements,
disregarding commonly known facts.

Statements : Some players are apples.
All apples are boats.

Conclusions :
(I} Some players are boats.
(IIy No apple is player.

(1) Only (I} follows

(2) Only (I} follows

(3) Either (1) or (1I) follows
(4) Neither (I) nor (II) follows

How many numbers amongst the 54.

numbers 11 to 50 are there which are
exactly divisible by 7not by 3 7

(1} Two

(2) Four

(3) Five

(4) Six

LL-1/C
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I Al % ITFY T8l B ge o v
AT | 9T & 3 o fvfa = e
fow o et 1§ A F9 A1 A w9 H
TG 919 9eA @ Fros T g wE
BT |

o : F0 et 9w § | aft S it
.

Forerd -

(I) T faengt A= € |

(1) =1E o faadl 7 2 |

(1) Fae () 921 2
(2) Fad (1) 9e 8
() QIADHATH TR
@) (D)1 ()T 9 Fig ot ==

118 so$raemati d 8 feradt aemi 7
@ ol v ¥ 3 @ i 7

(1) =

(2) =m
(3) ut=
(4) T8

[P T.0.




55. Choose the alternative which gives the 55, & faFey g‘ﬁ 57 fow o w ﬂﬁTﬂ E2

56.

LL-

values of A, B and C for a given

matrix
91 A |12
B |10 ] 7
8| C |11

(1) A=13, B=11, C=9
(2) A=13, B=9, C=11
(3) A=9,B=11,C=13
(4) A=9, B=13, C=11

U A, B & C 1 W W2 T &

91A |12
B 10| 7
C |11

(1) A=13,B=11,C=9
(2) A=13, B=9, C=1]
(3) A=9,B=11,C=13
(4) A=9, B=13, C=11

Find the correct alternative from 56, = SRt (1)-(4) # 9 e ey

amongst the four Figures (1) — (4} as
to how the pattern would appear when
the transparent sheet (Figure X) is
folded at the dotted line

NI RE

(1) Figure (1)
(2) Figure (2)
(3) Figure (3)
(4} Figure (4)

1/C 20

g4 w1 T wfmm famger @ w &
greelf T (TR X) Y 9E i @
gferma g




57, Identify the pattern and find the

number that can take the place of
question mark

12814616 7

(1 18

(2) 32

(3) 8

(4) 4

_ A number series is given with one term 58.

is missing. Choose the correct
alternative that will continue the
pattern in place of the question mark
2.5,9, 7,20,27

(1) 16

(2) 18

(3) 24

4) 14

57.gﬁwmaﬁqaﬁﬂaﬁaﬁwﬁ%

YT e o F O 1 T S Al
g

12814616 7

(1) 18

(2} 32

3) 8§

(4) 4

T e e 9 T 2R e
ﬁﬁw%lﬂﬁﬁ%ﬂaﬁqﬁﬁ
T e o T T ST S
@

2.5,9, 7,20,27

(1) 16

(2) 18

(3) 24

(4) 14

In a certain code RAID is written as 59. T% frfeya =g 3 RAID & % #*$,

05 # * $, RIPE is written as % * @ ©.
How is DEAR written up in that
code 7

(1) %@C#

2) $@#%

(3) @5%#%

(4) $©#%

RIPE % %*@ © % &1 1§ foren
3 |3t Fe A DEAR @1 3 formr=mem

(1) % @O#H
@ s@#%
3) @S#%
@) $O#%




60. From the given alternatives, select the 60. fe e et 4 I8 =2 4 T R

61,

62.

word which can't be formed using the
letters of the given word
LEDMENTNOWGEYCK

(1) Knowledge

{2) Gentle

(3) Agency

(4) Lodge

Find the number at the position of ' 61

2]
[6]4

1]

(1) 0
(2) 1
(3) 2
(4) 3

ajuEE

GRE

1]
I
L8]

1]
?
L 4]

A Perfect Number is 3 positive integer 62.

that is equal to the sum of ifs proper
positive divisors, that is, the sum of
1ts positive divisors excluding the
number itself,

For example, 6 is a Perfect Number.
Because its proper divisors are 1,2,3
and1+2+3=¢, Identify the Perfect
Number from among the following
(1) 24

(2) 28

(3) 32

(4) 36

22

TV Teq o TR T T RURIIES
T Tk =11 weRar
LEDMENTNOWGEYCK

(1) Knowledge

(2) Gentle

(3) Agency

(4) Lodge

‘?’%meat&ﬂwqﬁTaanﬁ'

2] 1] 1]

[614]6] [2] 71 [7]2]3
ny | 8 ] L4]

(1) 0

@ 1

(3) 2

(4) 3

T P01 &1 97 e s £ )

gﬂa:, Hﬁi%ﬁ EEIRE HE]ET %:a}g%f
T B S R w99 30 g ¥ faam
$HS AR g § |

FaE % for 6 weh vl T @ ik
e wnfaw w1, 2, 3 e
142+3=6 | Frraa 4 @ 7ol gsn 7 vay
T

(1) 24

(2) 28

(3) 32

(4) 36




63.

64.

LL-1/C

Find out the correct letter pair from
the alternatives given in answer
choices which shows the same relation
as that of the question pair

ABCD: WXYZ: : EFGH:

(1) STUV

(2) STOU

(3) TSUV

(4) STVU

PROMOTION in a certain code 18 64,

written as QSP89 how will you code
DEMOTION ?7

(1) DE98

(2) EF98

(3) EFg%

(4) DE89

23

63. 31 fav e fysredl @ o T e FA

sSifu S W T 6 B T <w
2

ABCD: WXYZ: : EFGH:_______
(1) STUV
(2) STOU
(3) TSUV
(4) STVU

PROMOTION ! ©& fasiy &g #
QSP89 foran ST €, DEMOTION ®!
17T | TR hie | fordn 7

(1) DE9S

(2) EF98

(3) EF89

(4) DEg9

[PT.O.




65. In the following figure choose the 65. 1% ¢t ¢ il # 34 &y 6 gear w
number of the region which represents T 11 37 Hg g #7 wfafAfere st
union members who are employed in 2 S O R wm e § siv e

factories and are not hard-working aiers et g @
Factory Union N * oY & g |
workers members A
2un e
Hard-work- HiST e
ing workers F A
FH=
(1) 6 (1) 6
2) 5 2) 5
(3) 4 (3) 4
@ 7 (4) 7

LL-1/C 24




66. In the guestion below there are three 66.
by four
conclusions. You have to take the

statements followed
given statements to be true. Read all
the conclusions and then decide which
of the given conclusions logically
follow from the given statements,
disregarding commonly known facts.
Statements

Some textbooks are guides.

No dictionary is texthook.

Some guides are dictionaries.
Conclusions

I.  Some guides are not textbooks.
II. All guides are either textbooks or
dictionaries.

III. Some guides are both textbook
and dictionaries.

1V,

(h
(2)
(3)
(4)

All guides are textbooks.

Only T and IV follows
Either 11 or IIT and [ follows
Only I follows

Only 111 follows

LL-1/C

3y g o weA B offH e S = e
% | anyent R o syl B G AT R |
oft Frenel ) o8 o g« g ¥ 9
FT Tt R TeRaARTS d ge o e
5 = w7 et R wuAl § g afds
T IR R

HUA

S TGIYES TS & |

18 Y Yo T A2 8 |
FD MEE TZHIT ¢ |

Freend

L S TIEE Mg T8l & |

1L =ft MEE AT wEHgEas & 91
TEH E |

1. $T e TEAgEH 3 T
TH F

1V, sft I13E WeHgEH & |

(1) whaet 1T IV wel @

(2) = F 1T aqerE 101 3f 1 5e 2
(3) hae [ T8I’

(4) e 1119 3

[P.T.0,




67. What is the number of squares in the 67. fi=frRaa HIFTA o F0f o) Hear e

68.

following figure ?

(1) 18
@) 14
3) 10
4) 9

Given that

(1) A is the mother of B
(if) Cis the son of A

(iif) D is the brother of E
(iv) Eis the daughter of B
The grandmother of D is
(1) A

(2) B

(3) C

(4) E

LL-1/C

27

-

|

(1) 18
2) 14
(3) 10
4) 9

68. T fifsu

26

(i) A, BHum@r?
(i) C,AmIgAR

(iii) D, E® 9 2
(iv) E,BHFI g &
D#l et 2

(1) A

(2) B

(3)C

4) E




69, If mirror is placed on the line MN then 69. T ador S MN T@1 | @1 gl

which of the answer-figure is the 9 © Fet-ampfa & W T
image of the given figure ? wfafera 27

M M
N

A |

I N
Answer-figure ; '

(1)

(2) _ (2)

(3) (3) i

4 (4) %

. Select the related word from the given 70. foru o fyehedi | o AT 158 ﬁﬁl’Q
alternatives
Moon : Satellite : : Earth : 7 TeEHT : IYUE ¢ : Tl ¢ 7
(1) Sun (1) &
(2) Planet (2) U8
(3) Solar system (3) G T
(4) Round (4) T




71. IfP denotes =, Q denotes x, R denotes 71. R P + &1 qa1% 2, Q » i CES
tand § denotes —, then R+ ETFE!%%’ IS - Y= ”%, GES
I8QI2P4R5S6=7 IBQI2P4R5S6=2
(1) 36 (1) 36
(2) 53 (2) 53
(3) 34 (3) 34
(4) 65 (4) 65

. Pointing to aman, a woman said, "His 72. %@ﬁﬁﬁwmmﬁﬁﬁﬁﬂ
mother is the only daughter of my 3 FE, ‘mﬁaﬁﬁﬁﬁﬁswﬁﬁgaﬁ
mother." How is the woman related 2 |’ fier 1 =R & = Hag B 7
to the man ?

(1) Mother (1) =i

(2) Daughter (2) g
(3) Grandmother (3) e
(4) Sister (4) =4

. The arca of the greatest circle, which 73. 39 Ta¥ 3 9 T ST R 120 em
can be inscribed in a square whose ﬁwﬁrﬁ:mﬁaﬁﬁ‘aﬁﬁmmm

perimeter is 120 cm is

22
(1) 7x(15)2 cm?

(2)

(3)




conclusions 1 and II. You have to

consider the statement to be true even,

if they seem to be at variance from

commonly known facts. You are to

decide which of the given conclusions,

iIf any followed from the given

statements.

Statement

Morning walk 1s good for health.

Conclusions

1. All healthy people go for morning
walk. .

II. Evening walk i1s harmful.

(1) OnlyI follows

(2) Only II follows

(3) Either I or 1l follows

(4) Neither I nor Il follows

. If the day before yesterday was 75

Thursday, when will Sunday be ?
{1y Today

(2} Two days after today

(3} Tomorrow

(4) Day after tomorrow

LL-1/C

74. A statement is given followed by two 74, T %94 3R 2 fFemd [w@ [ fRu mw § |

AT HUA FHT HEl qEAT 2, T8 98
g &9 H T aeAt o e vt
&1 1 3Rt fofa e 2 o oo e fet
18 == o, fov s & fau ad
2

U

Horg ol B wareed o foyu o=t At 2 |

foreend

1 |l ey =aih goe o 9
21

Il 3T sl 8T grieermes 2t 2 |

(1) shaed 19l 7

(2) Fm [ adt 2

(3) @At Lar 19E 2

(&) AMITNTLR

AfE 7 e TEIR o7 A e e g ?

(1)

(2) e & @t i |

(3) T FTet el

(4) 3 T B % T A T




76. I'ind the missing term in the following 76.

sequence

5 7

1 3
2°4°8°16°

(1)
(2)
(3)

4

. Choose the odd pair of words
(1) Easy : Difficult
(2) Brave : Coward
(3) End : Beginning
(4) White : Dirty

. If TEACHER is coded as LMKJNMP 78.
then how will HEART be coded ?

(1) NMAPL
(2) NMPKL
(3) NPKML
(4) NMKPL

freferfaa orgem ® ®12 0 9e w1 T

8y
(2)
(3)

@ T

. SHE e I i gAY

(1) 3™ : FHie
(2) FEE : FAT
(3) TE : yESAE
(4) |%g T

gfe TEACHER & &g § LMKJNMP
for@n TR & 9 HEART &t 3&t %1g o
fore werm forat 7

(1) NMAPL

(2) NMPKL

(3) NPKML

(4) NMKPL




79.

80.

Alka s older than Mala. Gopal is older 79. 3Teeh <61 1 HIcil | wiftre & 1 MO
than Mala but younger than Alka.  <hl 3T TIeTl & Al & g el B
Kapil is younger than Ram and Mala. 02 | it o ST T SR AT 8
Mala is older than Ram, Who is the %IWﬁmmﬁ&fﬁ%lm,
youngest among Mala, Ram, Alkaand TP, 37T S i W Tem FH g

Kapil 7 HART
(1) Mala (1) Hrell
(2) Ram (2) ™
(3) Alka (3) el
(4) Kapil (4) Fue

Kabir walked 30 m towards East, took 80. et & =t T 30 Hiex =rert TRt Frfet
a right turn and walked 40 m. Then  HEH 40tz e | R ag 18 a6 8T
he took left turn and walked 30 m. 330 HA = | 3T ST AT YrEATell
Which direction is Kabir now from the A d R AR

starting point ?

(1) North-East (1) FR-F
(2) East @ ©

(3) South-East (3) efdaor-gd

(4) South (4) 3@




SPACE FOR ROUGH WORK




